Refer to your six basic trig graphs to answer #45-52. Use the interval 0< x < 2% (which means you

may have multiple solutions.)
45. arcsin (0) 46. tan’'(1) 47. arccos(cot%)

49, arcsin(1) 50. cos(1) 51. sin![sec(-57)]

53. Identify the amplitude, period, horizontal and vertical
shift fory = -25in(3x —%) + 7
dentify the amplitude, period, horizontal and vertical shift, then

sketch the graph of y = 2sin[§ +£] + 1 for the interval -4n <x <4n

What is the equation of the graph
ghown at the right? ‘
A. y = tan 2x y=tan(2x+-%)

C.y=cot2x D.y=cot(2x+12'-)

What is the equation of the graph

shown at the right?
Ay= 300[4-25"i B, y= 300335-
@Dy=-33m§3— D, y= —-33111%"—

é‘éh;ii m_t;«;;loqz;%hon of the graph shownbelow‘?
B. y —2ms(-;=—~'g-)
C.y=-2sin (% - 1)

D.‘y=2cos(%— )

What is the equation of the graph
shown at the right?

w
A y= tan[-§+n') B. y= -°°t(5+—2')
¢ yem{ir)  @yeoZor]

48. arctan(-1)
52. tan’!(0)
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P Factor first, then use a

REMINDER:
Be sure to factor
equations first, then
identify the horizontal
shift.

HINT for #55-58

process oi elimination
as you identify the
period and horizontal
shift for each equation.




